ASS. REC. BY: Marcus REF: CS/	C7/23000813/Ug23
	ASSIGNMENT
From: Date:	Veh No: SKMH/ULS Yr Regn: 27/02/
	Type: M.Car / M.Cycle / Bus / Van / Lorry / Taxi / Prime Mover /
Estimated Cost:	Truck/Trailer or
OD I TP WS / TP RES / OD RES / EVA / INV / MV	(410-77)
To Inspect Vehicle No: SWM 9/01	Make: 3 Sp c.c / 496
at Workshop m/s Speed well-2	Colour A/C: Insured / Std / NI / NA
of	Sp.Reading T/Radio: Insured / Std / NI / NA
Insured:	Eng/No:
Policy No.	C/NO: JM6BM42A8E01024
Claims No.	Gen. Cond: Good / Fair / Poor / Burnt
Sum Insured: Excess:	Steering: norder / Jammed / Leaked / Burnt or
(Client's Record)	Brake: (norder / Jammed / Leaked / Burnt or
Make of Veh:	Modi: Nij / S/Rim / STD A/Rim or
	Tyre Size: F: 205/6,2016 Feb.
(Policy Condition)	R:
	DIS BS JOUN / EXNOVA / GY / FS / LIZA / MIC / OHTSU / PIR / SUMI /
repair at the time of inspection.	TOYO / YOKO or
Bal. or Market Value:	/ /
	Front R/Bal. R/Bal. mm
	1/24 2
Est. Repairs: days Res.: Yes or No	D.O.A. 19/0, 123 D.O.I. 21/1/23
Lum Sum: 3 Val.: Yes or No	Survey held at
CA REV REP. 24 HRS * SYAG	
Vehicle: IN / 0 Date: Person Contacted: L14-1316	
Date / Time Action / Instruction	The U/C / Chassis frame / Body Structure affected due to collision
CNY 22-1-23 30	1 Luchante
NOTT BREIT	/ lyslmtc.
1	/
1/22 2/5 \$ 8400 inhon	& Kerl
(Red. \$28)	888.54, 77%)
Date/Time, File Pass to? : Preli. Report	Days Of Repair: 8
1) 6/2/23 : Final Report	Resurvey No. of Trip: 2 Survey Fee:
Date/Time, File Return to?	Transportation:
Add (
The sale of the sa	
	: Interview (>) Photos
Report Format:	: Tech. Invs (\$) Others

> Back to OneMotoring

Enquire PARF/COE Rebate for Registered Vehicle

Owner ID Type:	Singapore NRIC
Owner ID:	557G
Vehicle Details	
Vehicle No.:	SKM4101S
Vehicle to be Exported:	No
Intended Deregistration Date:	26 Jan 2023
Vehicle Make:	MAZDA
Vehicle Model:	MAZDA3 4-DOOR SEDAN 1.5L SP.6EAT
Primary Colour:	White
Manufacturing Year:	2013
Engine No.:	P530210325
Chassis No.:	JM6BM42A8E0102417
Maximum Power Output:	88.0 kW (118 bhp)
Open Market Value:	\$18,764.00
Original Registration Date:	27 Feb 2014
First Registration Date:	27 Feb 2014
Transfer Count:	2
Actual ARF Paid: Intended PARF Rebate Details	\$8,764.00 43 <i>8</i> V
PARF Eligibility:	Yes
PARF Eligibility Expiry Date:	26 Feb 2024
PARF Rebate Amount:	\$4,820.00
Intended COE Rebate Details	
COE Expiry Date:	26 Feb 2024
COE Category:	A - Car up to 1600cc & 97kW (130bhp)
COE Period(Years):	10
QP Paid:	\$77,201.00
COE Rebate Amount:	\$8,363.00
Total Rebate Amount:	\$13,183.00

The information contained herein is correct as at 26 Jan 2023

ОК

sgcarmart

Login Sign up

New Cars

Post an Ad

Used Cars Rental Cars

Sell My Car

Directory

Products

Insurance

Articles

Forum

① X

Resources

Drinks & Beverage Catering

The bar really is where the party's at and nobody does it better than My Bartender

Contact Us

Post an Advertisement Sell it yourself! Advertise it at just

\$68 until it's SOLD!

Advertiser Login Ways of Selling 2013 Volkswagen Golf 1.4 TSI.



Good For COE Renewal, Car Still In Good Condition. Direct Owner StarAd

Auto Inn click here to view our PRISTINE USED CARS at GREAT PRICES

Sort by Date Posted V 20 V results/page 5 vehicles MAZDA 3 Any Category Advanced Search Search Make Model Price Depreciation Reg Date Eng Cap Mileage Veh Type Status Search Selection MAZDA 3 Any Any 2014 Any Anv Any Available Mazda 3 1.5A \$28,500 \$16,330 /yr 22-Aug-2014 1,496 cc 95,229 km Sedan Available PREMIUM AD Posted: 23-Jan-2023



Mazda 3 HB 1.5A Deluxe Sunroof

\$26,800

\$15,800 /yr

25-Jun-2014

1,496 cc 127,000 km Hatchback

Available

Full Loan With Monthly At \$1,300, Fully Maintained By Agent. High Spec Hatchback Model. Short Term Usage To Monitor The COE And P...

Zenith Automobile

Posted: 18-Jan-2023



Mazda 3 1.5A Sunroof

\$25,800

\$15,240 /yr

23-Jun-2014

1,496 cc

Sedan

Available DIRECT OWNER

Trade in and loan can be arrange for you.

Posted: 11-Jan-2023



Mazda 3 1.5A Deluxe Sunroof

\$30,800

\$14,930 /yr

11-Nov-2014

1,496 cc

116,589 km

Sedan

Available

Well maintained and in immaculate condition. Low mileage done with proved, various loans schemes available, trade in available! Confid...

Posted: 27-Dec-2022



Is your COE expiring? Let us help you renew it!

Getting your COE renewed is easy, fast and affordable. We'll help you renew your COE and get a loan for it. Get the cheapest loan in town and an approval in 2 days without effort! Enquire today.



Mazda 3 1.5A Sunroof

\$32,800

\$17,180 /vr

31-Oct-2014

1,496 cc

162,000 km

Sedan

Available CONSIGNMENT

Only 2 owner unit. Strictly well maintained with servicing records. Pristine condition. It also comes with new battery and tyres. High loan...

Posted: 21-Dec-2022

Save this search criteria, to get email alerts whenever a match is found.

Make

Model

Price

Depreciation

Reg Date

Eng Cap

Mileage

Veh Type

Status

For old advertisements, view Expired ads

20 v results/page

Compare

SPEEDWERKZ PRIVATE LIMITED

1 KAKI BUKIT AVENUE 6 , #01-73 , AUTOBAY , SINGAPORE 417883 Tel: 96195936 / info@speedwerkz.biz

VEHICLE NUMBER: SKM4101S MAKE & MODEL: MAZDA 3

DOA: 19/1/2023 CLAIM TYPE: TP CLAIM

Not Arlend 27/123 2/5 = 8400/ 8 days.

ESTIMATION QUOTE

PARTS		QTY	PRICE (\$)	REMARKS
FRONT BUMPER	1083.30	1	\$1,268.00	20 -
FRONT BUMPER TOW COVER	0). 70	1	\$48.20	11 X
FRONT BUMPER REINFORCEMENT	841.20	1	\$655.30	34-
FRONT BUMPER SIDE RETAINER @23.40		2	\$46.80	3ut-
FRONT BUMPER FOG LAMP @314		2	\$628.00	11 X
FRONT BUMPER MARKER LAMP @324		2	\$648.00	11 X
FRONT BUMPER AIR GRILLE		1	\$67.60	かん
FRONT BUMPER HEADLAMP NOZZLE @294.40		2	\$588.80	11 X
FRONT BUMPER HEADLAMP NOZZLE COVER @47.10	28.50	2	\$94.20	Uls MIS 126
FRONT BUMPER REINFORCEMENT PROTECTOR	, ,	1	\$89.00	211-
FRONT BONNET		1	\$988.60	NX
FRONT BONNET HINGES @ 56.30		2	\$112.60	AC X
FRONT BONNET LOCK@195.20		2	\$390.40	11 X
FRONT SUPPORT PANEL		1	\$563.60	MAX
FRONT AIRCON CONDENSER		1	\$993.40	11 X
FRONT RADIATOR ASSY		1	\$1,025.40	11×
FRONT GRILLE		1	\$586.00	cre-
FRONT GRILLE CHROME MOULDING @311.20	218472439	2	\$622.40	(n_ /
FRONT FENDER @434		2	\$868.00	RX
FRONT FENDER INNER SHIELD @167.70		2	\$335.40	11 X
FRONT HEADLAMP @3568 /4	4452533	2	\$7,136.00	lre ~
WIPER WASHER TANK		1	\$92.60	MX
WIPER WASHER TANK MOTOR		1	\$52.70	ハイメ
REAR BOOT LID	//02.30	1	\$1,642.00	30/suf-
REAR BOOT LOCK	164.60	1	\$465.20	111-
REAR BOOT LOCK CATCH		1	\$70.20	17 X
REAR BOOT LID HINGES @168		2	\$336.00	11 X
REAR BOOT INSULATOR		1	\$365.50	11X
REAR BOOT LID RUBBER	136.00	1	\$315.20	121
REAR BOOT COVER LAMP @765		2	\$1,530.00	174
REAR BOOT EMBLEM (MAZDA 3)	42.00	1	\$65.00	ner
REAR BOOT EMBLEM LOGO	65.00	1	\$72.00	ner/
REAR BOOT EMBLEM (SKYACTIVE)	60.00	1	\$65.00	ner -
REAR TAIL LAMP@985		2	\$1,970.00	nnx
REAR TAIL LAMP PENAL @388		2	\$776.00	RX
REAR END PENAL DE AL	435.70 162.60	1	- \$925.00	Bert-
	162.80	1	\$315.50	121
REAR SPARE TYRE PENAL PCAN		1	\$1,355.00	112
REAR SPARE TYRE PANEL TOP COVER BOARD		1	\$475.20	11 x
REAR BUMPER	1047.30	1	\$1,421.60	205/
REAR BUMPER SIDE RETAINER @35.00		2	\$70.00	sul-
REAR BUMPER REINFOREMENT	1-63.00	1	\$652.20	sul-
REAR BUMPER REFLECTOR @50		2	\$100.00	111
REAR BUMPER PLATE LAMP @85		2	\$170.00	inx
REAR EXHAUST SILENCER		1	\$1,465.00	MX
REAR EXHAUST CHROME PIPE @165		2	\$330.00	11 X
REAR FENDER INNER GARNISH @598.40		2	\$1,196.80	mx

REAR BUMPER TOW COVER @75.20	30	2	\$150.40	0/5/11/12/0
REVERSEING SENSOR @274		4	\$1,096.00	X 74
REVERSRSING SENSOR HOLDER @22		2	\$88.00	MX

\$35,383.80

Less 20 % Sub Total

\$7,076.76 \$28,307.04

SPECIAL NETT ITEMS		QTY	PRICE (\$)	REMARKS
FRONT & REAR NUMBER PLATE	front cre	1	\$90.00	20
REAR BOOT INSULATOR CLIPS @5	41	5	\$40.00	X
END PENAL TOP GARNISH CLIPS @6.50	11	3	\$19.50	7
REAR END PENAL SEALANT	nu	1	\$80.00	50
REAR SPARE TYRE PENAL TOP INSULATOR	11	1	\$250.00	×
REAR BUMPER CLIPS \$6.50	Mr.	5	\$52.00	40
REAR BUMPER REVERSE SENSOR	Ship	1 SET	\$350.00	220
REVERSING CAMERA	(// ^	1	\$650.00	X

Sub Total \$1,531.50

LABOUR CHARGE	QTY	PRICE (\$)	REMARKS
TO CHECK WIRING		\$250.00	20
TUFF KOTE		\$200.00	60
REMOVE AND REFIX EXHUAST PIPE		\$180.00	nnx
REMOVE AND REFIX RENEW REVERSING SENSOR		\$150.00	SV
REMOVE AND REFIX REAR FENDER INNER TRIM AND GARNISH ETC		\$150.00	80
REMOVE AND REFIX CUSHION SEAT, CARPET ETC		\$250.00	>
REMOVE AND REFIX RADIATOR & REFILL COOLANT		\$120.00	11 V
REMOVE AND REFIX AIRCON CONDENSER & REFILL GAS		\$150.00	11 X
TO REMOVE AND REPLACE SPARE PARTS AND PENAL BEATING		\$3,500.00	1000
TO SPRAY PAINTING AND ETC		\$2,500.00	1400

Sub Total \$7,450.00

Grand Total

\$37,288.54

5.N-310

LKK Auto Consultants hence notify the Repairer of the following:

- To resurvey before/after spray painting
- To display damaged part(s) during resurvey
- Parts prices are subject to confirmation
- Third party survey is on a "Without Prejudice" basis
- No illegal modification(s) is allowed
- Supplementary item(s) must be resurveyed <u>and</u> is subject to final approval from Insurance Company

Acknowledged by Repairer

Signature:

Date: